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CHAPTER 1 
NOT-FOR  PROFIT ORGANISATION 

1 Score Questions 

1. Not-for Profit Organisation Receipts and Payment account shows  
 െറസിŁƃ്ആൻĹെപņെമൻňഅŚൗŪ് കാണിŚുŹļ……………… 

a)Cash receipts and payments   b) Income and expense c) Assets and liabilities 
d)All of these                                                         

 2. Income and expenditure account shows……………..     
 ഇൻകം ആൻĹ എĭŏെപൻഡിŢർ അŚൗŪ്കാണിŚുŹļ....        
   a)Surplus b) Deficit  c) Surplus or deficit        d) None of these                 

3. Which of the following is not a Not-for Profit organization? 
താെഴതŹിരിŚുŹവയിൽ ലാേഭţയിലīാെത   ŗപവർŮിŚുŹ Ɖാപനം അലīാŮļ ഏതാĻ?  

a)College b)Sports club c)Hospital d) Maruti udyog Limited.   
 4. Complete the series          

േŗശണി പൂർŮീകരിŚുക  

Receipt and it payment account:     Cash in hand and cash at bank  
 Income and expenditure account:    ---------? 

5. The revenue account prepared by not -for- profit organization is ------- account.  
ലാേഭţയിലīാെത ŗപവർŮിŚുŹ Ɖാപനšൾ തƂാറാŚുŹ റവനŖൂ അŚൗŪ് ആĻ-------.    

 a)Profit and loss b) Receipt and payment c) Income and expenditure d) None of   

these.           
 6. Income and expenditure account records transactions of ---------- nature .  
 ഇൻകം ആൻĹ എĭŏെപൻഡിŢർ അŚൗŪ്  ------ ഇടപാടുകൾ േരഖെżടുŮുŹു  

a)Revenue b)Capital c)both revenue and capital d)None of these.                              
7. The amount received by a not-for profit making organization from the estate of a 

deceased person under a will is called ------   
ഒരു വŖśിയുെട മരണാനŵരം അയാളƧെട വിൽപŗതŮിൽ പറŧിരിŚുŹļ ŗപകാരം 

ലാേഭţയിലīാെത ŗപവർŮിŚുŹ ƉാപനšൾŚ് ലഭിŚുŹ തുകയാĻ …………. 

a)Entrance fees b)Subscription c) Legacy d)Donation .                                                
  8. The excess of asset over liabilities of a not-for profit organization represents    

ലാേഭţയിലīാെത ŗപവർŮിŚുŹ ƉാപനšളƧെട ബാധŖതകൾ കൂടുതൽ ആŏതി വരുേƀാൾ 

അļ ŗപതിനിധീകരിŚുŹļ  

a)cash in hand b)Capital fundc) deficit d)None of these                                       
 9 Find the old one and give reason                   
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 ഒƃെപŨതിെന കെŪŮി കാരണം വŖśമാŚുക 

a)Subscription b)Admission fees c)Locker rent d) Life membership fees         
    2 Scores Questions 
10. During the year 2018 Diya Arts Club received Rs.100000 as entrance fees.  

As per the account policy of the club 30% of the entrance fees is to be capitalized. 
How will you deal with the entrance fees received by the club?    
ദിയ ആർķŏ കƀനിŚ് Ǝſിŀ 2018 ŗപേവശന ഫീസായി 100000 രൂപ കിŨി അŚൗŪിംį 

നിയമമനുസരിŢ് ŗപേവശനഫീസിŀെറ 30% മൂലധനവŉകരിേŚŪതാĻ. 
               ഈ തുകയുെട േരഖെżടുŮൽ എšെനയായിരിŚുെമŹ് ŗപŏതാവിŚുക 

11         Write any two Salient features of the  Receipt and Payment account.     
െറസിŁƃ്ആൻĹെപņെമൻňഅŚൗŪ്െറൻ 2 സവിേശഷതകൾ എഴുതുക  

12. How will you treat the following items in the final account of a Not-for-Profit 
Organization ? 
ലാേഭţയിലīാെത ŗപവർŮിŚുŹ ƉാപനšളƧെട  വർഷാŵŖ കണŚുകളിൽ താെഴżറയുŹ 

ഇനšൾ എšെന ൈകകാരŖം െചƂƧം. 

a)Legacy  b) Life membership fees  
4 Scores Questions 

13. Write any four difference between Receipt and Payment Account and Income and 
Expenditure Account?           

െറസിŁƃ്ആൻĹെപņെമൻň അŚൗŪും ഇൻകം ആൻĹ എĭŏെപൻഡിŢർ അŚൗŪും 
തƁിലുƄ നാŉ വŖതŖാസšൾ എഴുതുക.  

14. Ravi  sports club received Rs.150000 as subscription for the year ended 31st 
March   2017. Consider the following adjustments  and mention whether we should 
add or deduct each items to find out subscription for the year.     

             രവി ŏേപാർķŏ ലഭിŢƧ. ചുവെട േചർŮിരിŚുŹ അധിക വിവരšൾ മനƋിലാŚി 
ഈവർഷെŮ വരിസംഖŖ കെŪŮുŹതിŀ ഓേരാŹും കൂŨേണാ കുറņŚേണാ എŹ് 
േരഖെżടുŮുക  

Subscription outstanding on 31st March 2017  Rs.10,000  
31മാർŢ്  2017 ŀ കുടിƇിക 10000 രൂപ  

Subscription outstanding on 1st  April 2016 Rs.15,000. 
2016 ഏŗപിൽ 1st  കുടിƇിക 15000 രൂപ  

Subscription received in advance as on 1st April 2016  Rs. 5000  
2016 ഏŗപിൽ ഒŹിŀ വരിസംഖŖ മുൻകൂറായി ലഭിŢļ 5000 രൂപ  

Subscription received in advance as on 31st of March 2017  Rs.8000  
2017 മാർŢ് 31ŀ വരിസംഖŖ മുൻകൂറായി ലഭിŢļ 8000 രൂപ                               
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15. During the year 2017 -18 there was 1500 members in a sports club. The yearly 
subscription was fixed at Rs. 50 per member. There was unearned subscription of 
Rs. 3000 at the beginning of the year.The unearned subscription at the end of the 
year was Rs.1800. Show how the amount of subscription appears in the following 
financial statements of the club.               

         a)Income and Expenditure aAccount b)Receipts and payment account.  
2017 -18 ഒരു ŏേപാർķŏ Ǝſിൽ 1500 അംഗšൾ ഉŪായിരുŹു. ആേളാഹരി വരിസംഖŖ 50 

രൂപയാĻ. വർഷാരംഭം മുൻകൂർ വരിസംഖŖ 3000 രൂപയും വർഷാവസാന മുൻകൂർ വരിസംഖŖ 

1800 രൂപയുമാĻ താെഴżറയുŹ വാർഷിക ധനകാരŖ േരഖകൾ വരിസംഖŖ യുെട തുക എšെന 

ഉൾെżടുŮുെമŹ് കാണിŚുക a)വരŌ -െചലŌ കണŚ് b)പണം സřീകരിŚൽ -നൽകൽ കണŚ്  

16. From the following particulars calculate the amount of subscription to be credited 
to the Income and Expenditure Account for the year ending 31st, March 2018. 
ചുവെട െകാടുŮിരിŚുŹ വിവരšളിൽ നിŹ് ഈ വർഷാവസാനം 31/ 3 /2018 ൽ   വരŌ െചലŌ 

അŚൗŪിൽ െŗകഡിƃ് െചƂƧŹ വരിസംഖŖ എŗതയാെണŹ് കെŪŮുക  

Subscription received during 2017-2018 Rs.50,000         
Outstanding subscription 31st March 2018 Rs.4000                                         
Outstanding subscription 1st April 2017 Rs.3200                                          
Subscription received in Advance 31st March 2018 Rs.1800               
 Subscription received in advance 1st, April 2017 Rs.1200.                                            

   17. Mr. Raju, the Secretary of Diya Arts and Sports Club is not aware about the 
treatment of fund in their Balance Sheet. As a Commerce students you are required 
to help him based on the following details.  
ദിയ ആർķŏ ആൻĹ ŏേപാർķŏ Ǝſിൻെറ െസŗകŨറിയായ ŗശീ രാജുവിŀ ബാലൻŏ ഷീƃിൽ  

ഫŪ് േരഖെżടുŮൽ അറിയിലī. ഒരു െകാേമŋŏ വിദŖാർůി എŹ നിലയിൽ താെഴ പറയുŹ 

വിവരšൾ എഴുതുŹതിŀ അേųഹെŮ സഹായിŚാേമാ?      

Tournament expenses Rs.15,000         Tournament fund     Rs.28,000           
Donation for Tournament  Rs.12,000.  Collection from the sale of tournament  
tickets Rs. 8000                                      

 18 From the following calculate the amount to be debited in the Income and 
Expenditure Account in respect of stationary.       
താെഴ തŹിരിŚുŹവയിൽ  നിŹും  വരŌ -െചലŌ അŚൗŪിൽ േƊഷനറി മായി ŀെżŨ എŗത 

രൂപ െഡബിƃ്  െചƂƧം എŹ് കെŪŮുക  
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Payment made for stationary Rs. 980.  Stock of stationary on the opening date and 
closing date Rs. 100 and Rs.120 respectively. Amount due for stationary  during 
the year Rs. 140                           

19. One of your friend wants to take membership  in a sports club. He does not know 
anything about Not-for-Profit organization. Can you explain him what it is? And 
what are different accounting records maintained in such organization and step for 
preparing Final Accounts.  
നിšളƧെട സുഹൃŮ് ഒരു ŏേപാർķŏ Ǝബിൽ അംഗമാകാൻ ആŗഗഹിŚുŹു ലാേഭţയിലīാെത 

ŗപവർŮിŚുŹ ƉാപനšളƧെടšെളŚുറിŢ് അേųഹŮിŀ ഒŹും അറിയിലī. ഇŮരം 

Ɖാപനšൾ എŵാെണŹും അവിെട തƂാറാേŚŪ വിവിധ  അŚൗŪുകൾ ഏതാെണŹും 

വാർഷിക കണŚ് തƂാറാŚŹതിനുƄ നടപടിŗകമšൾ  എŵാെണŹും വിശദീകരിŚാേമാ?    

4 Scores Questions 
20. The Receipt and Payment Account of a private school is given below    
  ഒരു ൈŗപവƃ് ŏകൂളിൻെറ പണം സřീകരിŚൽ കണŚ് താെഴ നൽകിയിരിŚുŹു.  

 

Receipt and Payment Account (31/03/2017) 
Receipts Amount Payments Amount 

Balance b/d 

(Cash at bank) 

Tuition Fees 

Admission Fees 

Endowment Fund 

Donation 

Interest on investment  

Sale of news paper 

40800 

 

22000 

40200 

60000 

34000 

   5600 

     500 

203100 

Furniture 

Investment 

Salaries 

Stationary Expenses 

Advertisement 

Balance c/d 

(Cash at bank) 

33000 

45000 

74400 

  3400 

  5800 

41500 

 

 

203100 

 

The school has following assets and liabilities on 01/04/2016.  
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ŏകൂളിൻെറ 01/04 /2016 െല ആŏതി ബാധŖതകൾ താെഴ നൽകിയിരിŚുŹു  

Land and Building Rs.350000 
Furniture Rs.285000 
School Bus Rs.215000 
Bank loan Rs.5000 
Prepare the Income and Expenditure Account for the year ended 31st, March 2017 
and the Balance Sheet as on that date by considering the following: 
താെഴ പറŧിരിŚുŹļ പരിഗണിŢ് ŏകൂളിൻെറ 31 /3 /2017 ൽ  അവസാനിŚുŹ വർഷെŮ 

വരŌ െചലŌ കണŚ്, ആ ദിവസെŮ ബാലൻŏ ഷീƃ് എŹിവ തƂാറാŚുക  

a. Half of the Donation should be treated as income  
b.Advertisement expense outstanding Rs.1500  
c. Interest on Bank Loan Rs.14600 due for payment  
d. Accrued interest on investment Rs.2000. 
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CHAPTER 2 

ACCOUNTING FOR PARTNERSHIP - BASIC CONCEPTS 

1 Score Questions 
 
1. Which among the following in not an element of reconstitution of partnership 

business  

]¦m-fn¯ _nkn-\-Ênsâ ]p\x-{I-ao-I-c-W-¯nÂ DÄs¸-Sm¯ LSIw GXv. 

a) Admission   b) Change in Profit sharing   

c) Death     d) Dissolution of firm      

2. Partner’s salary is debited to.................. Account  

]¦m-fn-bpsS i¼fw sU_näv sN¿p¶ A¡u­v..............................BWv.  

a) Trading    b) Capital   

c) Profit and Loss Account   d) P&L Appropriation Account.   

3. In the absence of any agreement, partners will share Profits or losses in…… ....ratio. 

Icm-dnsâ A`m-h-¯nÂ ]¦m-fn-IÄ em`hpw \jvShpw hoXn-¡p-¶Xv .......................  A\p-

]m-X-̄ n-emWv.       

a) Equally  b) Sacrificing c) Gaining  d) None of these.  (1) 

4.Which among the following account is credited with interest on capital under fixed    

    capital method? 

^nIvkUv Iym]n-äÂ sat¯Uv {]Imcw aqe-[-\-̄ nsâ ]eni GXv A¡u-­n-emWv 

s{IUnäv sN¿p-¶-Xv. 

a) P&L Appropriation Account   b) P&L Account   

c)Capital Account    d) Current Account    

5.Identify the name of document containing terms of agreement between Partners. 

]¦m-fn-IÄ X½n-epÅ IcmÀ hyh-Ø-IÄ AS-§n-bn-cn-¡p¶ document sâ t]cv 

F´msW¶v Xncn-̈ -dn-bp-I.        
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6.When cash or goods are withdrawn by a partner from business ...........................account  

    is debited 

]Wtam km[-\-§tfm Hcp ]¦mfn _nkn-\-ÊnÂ \n¶v ]n³h-en-¡p-I-bm-W-¦nÂ 

A¡u-­nÂ............................. sU_näv sN¿-s¸-Spw.  

a) Drawing  b) Profit & Loss   c) Cash  d) None of these   

7.Current Account is prepared under .......................method  

Id­v A¡u­v X¿m-dm-¡p-¶Xv................................. coXn-bnemWv. 

a) Fixed capital    b) fluctuating capital    

c) Both fixed and fluctuating  d) None of these  

8.In the absence of an agreement, any loan advanced by the partner to the firm is   

    allowed  an interest at the rate of .......................% p.a 

Hcp Icm-dnsâ A`mh-¯nÂ GsX-¦nepw hmbv], ]¦mfn Øm]-\-̄ n\v \ÂIn-bn-«p-

s­-¦nÂ, Bb-Xn\v {]Xn-hÀjw ]eni \ÂtI­Xv ..................BWv. 

 a) 6%  b) 5%   c) 12% d)10% 

2 Scores  Questions 

9. List out any four items to be credited to a partner Current Account, when Capitals are    

     fixed.  

Ønc aqe-[\ A¡u­v coXn-bnÂ, Hcp ]¦m-fn-bpsS Idâv A¡u-­nÂ s{IUnäv 

sNt¿­ \mev C\-§Ä Fgp-Xp-I.      

10.Revathy withdraws Rs 20,000 regularly on the middle of each month Interest is    

     charged at 12% p.a Calculate interest on drawings for the whole year. 

tchXn FÃm amkhpw a[y-̄ nÂ 20000 cq] XpSÀ -̈bmbn ]n³h-en-¡p¶p. ]eni 12% 

BWv. ]n³h-en-¨- Xp-I-bpsS Hcp hÀj-t¯-bv¡pÅ ]eni IW-¡m-¡p-I 

4 Scores  Questions 

11.Vinu and Raju are partners in a firm. In the absence of written rules how the following   

     items will be treated in account. 
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hn\phpw cmPphpw Hcp Øm]-\-̄ nse ]¦m-fn-am-cm-Wv. FgpXn X¿m-dm-¡nb dqfp-I-

fpsS A`m-h-¯nÂ Xmsg ]d-bp¶ C\-§sf A¡u-­nÂ F§s\ tcJ-s¸-Sp¯pw 

a) Profit or Loss of the firm.  b) Interest on capital  

     c) Interest on drawing   d) Salary or commission payable   

12.Ravi and Reji are partners in a firm. They decided to prepare Partnership deed. What  

     are the contents to be included in that deed. 

chnbpw sdPnbpw Hcp Øm]-\-̄ nse ]¦m-fn-I-fmWv. AhÀ Hcp ]¦m-fn¯ {]amWw 

X¿m-dm-¡m³ B{K-ln-¡p-¶p. B Icm-dnÂ DÄs¸-Sp-s¯­ hnh-c-§Ä Fs´ms¡-bm-

Wv.         

13.Write any four differences between fixed capital method and fluctuating capital   

      method.  

Fixed Capital coXn-bpw Fluctuating Capital coXn-bpw X½n-epÅ 4 hyXym-k-§Ä Fgp-

Xp-I.           

14.Aji and Saji are partners. Aji’s Capital is 50000 and Saji’s Capital is 30000. Interest   

     on capital is payable @ 6%. Saji is entitled to a Salary of Rs.3000 per month. Profit     

     for the current year before interest and salary is Rs.80000. Prepare profit and loss   

     appropriation account. 

APnbpw kPnbpw ]¦m-fn-I-fmWv. APn-bpsS aqe-[\w 50000 cq]-bpw kPn-bpsS aqe-

[\w 30000 cq]-bp-am-Wv. aqe-[-\-̄ nsâ ]eni 6% BWv. kPn-bpsS i_fw amkw-

tXmdpw 3000 cq]-bmWv. i¼-fhpw ]en-ibpw sImSp-¡p-¶-Xn\p ap¼pÅ em`w 80000 

cq]-bm-Wv. t{]m^näv Bâv temÊv At{]m-{]n-tb-j³ A¡u­v X¿m-dm-¡p-I.  

15.Arjun and Jithin are Partners in a firm Sharing profits and losses in the ratio of 3:2.  

    Their Capital balance on 1-1-2018 were Rs. 1,50,000 and Rs.1,00,000. According to   

      the partnership agreement. 

 a) All the partners are entitled to get interest in capital at 10% P.a  

 b) Jithin is to get a salary of Rs.3000 per month 
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 c)  Interest on drawings is to be charged at 10% p.a. 

The drawings of Arjun and Jithin were Rs.40,000 and Rs.20,000 respectively. 

During the year, the firm earned a net profit Rs.80,000 after all adjustments .        

     Prepare capital A/c of Partners. 

AÀPp³, PnXn³ F¶n-hÀ 3.2 F¶ A\p-]mXw DÅ ]¦m-fn¯ _nkn-\kpImcm-

Wv. 1.1.2018 se Ah-cpsS aqe-[\w bYm-{Iaw 1,50,000 cq]bpw 1,00,000 cq]bpw BWv. 

]¦m-fn¯ IcmÀ {]Imcw  

1) FÃm ]¦m-fn-IÄ¡pw Ah-cpsS aqe-[-\-¯n\v 10% hmÀjnI ]eni e`n¡pw. 

2) PnXn³ F¶ ]¦m-fn¡v {]Xn-amkw 3000 cq] i_fw e`n¡pw. 

3) ]¦m-fn-bpsS {Umbnw-Kvkn\v 10% hmÀjnI \nc-¡nÂ ]eni CuSm-¡-Ww. 

AÀPpsâbpw PnXn-sâbpw {UmbnwKvk bYm-{Iaw 40,000 cq]bpw 20,000 cq]bpw 

BWv. 2018 hÀj-̄ nÂ GÃm AUvP-äp-sa-sân\p tij-apÅ _nkn-\-Ênsâ em`w 

80,000 cq]-bmWv. ]¦m-fn-IfpsS aqe-[\w A¦u­v X¿m-dm-¡p-I.   
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CHAPTER 3 
RECONSTITUTION OF A PARTNERSHIP FIRM 

ADMISSION OF A PARTNER 
 
1. Unrecorded asset A/c          Dr 

  To Revaluation A/c 
This journal entry is passed for? 
Cu tPÀWÂ tcJ-s -̧Sp-̄ p-¶Xv 

(a) Increase in asset   (b) Decrease in asset 
(c) No change in asset   (d) None of these     

2. Share of goodwill brought in cash by the new partner is called.......................(1) 

]pXnb ]¦mfn  KpUvhn-Ãnsâ hnlnXw ]W-̄ nsâ cq]-̄ nÂ sIm­p hcp-¶-

Xns\ ]d-bp-¶Xv .................... F¶m-Wv. 

(a) Premium (b) capital (c) profit (d) None of these     (1) 
3. The premium brought in by the new partner is credited to .......... capital account 

]pXnb ]¦mfn sIm­p-h-cp¶ {]oanbw s{IUnäv sN¿p-¶Xv ........... Iym¸n-äÂ A¡u-

­n-em-Wv. 

a) old  (b) all  (c) new   (d) equal       (1) 
4. A and B are partners in a firm sharing profits& losses in the ratio of 3:1. They 

admitted C in to partnership for  th share in future profit. Sacrificing ratio of A & B 

is..................  
3:1 F¶ A\p-]m-X-̄ nÂ em -̀\jvSw ]¦phbv¡p¶ Hcp ]¦m-fn¯_nkn-\-

ÊnÂ ]mÀ«vWÀamÀ BWv A bpw B bpw. Csb   em`-hn-ln-X-̄ nÂ ]pXnb ]mÀSvW-dmbn 

tNÀ¡m³ AhÀ Xocp-am-\n-̈ p. ChnsS A bptSbpw B bptSbpw XymK A\p-

]mXw ..................... BIp-¶p. 
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(a) 1:1     (b) 3:1     (c) 1:3    (d) 3:2          (1) 
5. The amount of goodwill brought in by the new partner is shared by old partners in 

their ............. ratio 

]pXnb ]mÀSvWÀ sIm­p-h-cp¶ KpUvhnÂ XpI ]gb ]mÀSvWÀamÀ Ah-cpsS ................ 

A\p-]m-X-̄ nÂ ]¦p-h-bv¡p-¶p. 

(a) Old  (b) Sacrificing (c) gaining    (d) None of these (1) 
6. X&Y are partners in a firm sharing profits and losses in the ratio of 4:1. They 

admitted Z into partnership for th share in future profit. The new profit sharing ratio 

will be ...................... 

X, Y F¶n-hÀ 4:1F¶ A\p-]m-X-̄ nÂ em`-\-jvS-§Ä hoXn-¡p¶ ]¦m-fn¯ _nkn-\-

Êp-Im-cm-Wv. AhÀ Z F¶ hyànsb _nkn-\-ÊnÂ ]¦m-fn-bmbn   em`-\jvS]¦n-\mbn 

tNÀ¡p-¶p. A§n-s\-sb-¦nÂ Ah-cpsS ]pXn-b-em-̀ -\-jvS-]-¦n-SÂ A\p-]mXw F´m-Wv. 
(a) 4:1:2     (b) 3:2:1    (c) 3:3:1    (d) 1:1:1    (1)   

7. On admission of a partner, debit balance of profit and loss account is................. 

]¦m-fn-bpsS \nb-a\ ka-b v̄ P&L A¡u­nse sU_näv _me³kv................... 

(a) Credited to old partners capital A/c  (b) debited to old partners  capital A/c       
(c)Credited to all partners capital A/c      (d)debited to all partners capital A/c  

(1) 
8. Write the changes affected on assets from the following journal entries 

X¶n-cn-¡p¶ tPÀWÂ F³{Sn-I-f-nÂ \n¶pwBkvXn-I-fnÂ h¶n-cn-¡p¶ amäw Fgp-

XpI 

(a) Revaluation A/c   Dr  4000 
  To Furniture    4000 
(b) Machinery A/c   Dr  3000 

 To Revaluation    3000     (2) 

9. A new partner is admitted to the firm for th share, for which he contributes        

40,000 in cash and  20,000 as premium for goodwill. Pass journal entries. 
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   em`-hn-ln-X¯nÂ ]¦m-fn¯ _nkn-\-ÊnÂ ]mÀSvWÀ Bbn tNÀ¯ BÄ 40000 

cq] ]W-ambpw 20000 cq]m KpUvhnÂ F¶ C\-̄ nepw sIm­p-h-cp-¶p. A\p-tbm-Py-

amb tPÀWÂ F³{Sn Fgp-XpI          (2) 

10.  Aji & Saji are partners sharing profits & losses in the ratio of 2:1. On admission of 

Viji, the various assets and liabilities are revalued as under. 

APn, kPn F¶n-hÀ 2:1 F¶ A\p-]m-X-¯nÂ em`hpw \jvShpw hoXn-¡p¶ ]¦m-fn-I-

fm-Wv. hnPn-bpsS -{]th-i\-hp-ambn A\p-_-Ôn v̈ kz¯p-¡fpw _m²y-X-Ifpw Xmsg 

sImSp-̄ n-cn-¡p¶ coXn-bnÂ dohmeyq sNbvXp.  

    Book Value      Revalued Value 
Furniture       1,00,000    1,70,000 
Stock        1,20,000    1,30,000 
Sundry Creditors      1,50000     2,00,000 
Pass journal entries on revaluation of these assets and liabilities       (3) 

11. A and B are partners sharing profits and losses in the ratio of 3:2. They admit C for a 
sixth share for which he bring in  40,000 for capital and  20,000 for goodwill. A 
and B withdrew half the amount of goodwill immediately in cash. Give journal entries 
A bpw B bpw 3:2 F¶ A\p-]m-X-̄ nÂ em`hpw \jvShpw hoXn-¡p¶ ]¦m-fn-

Ifm-Wv. AhÀ Csb  F¶ A\p-]m-X-̄ nÂ _nkn-\-Ên-te¡v {]-th-in-̧ n-¡p-

¶p.AbmÄ 40000 cq]m aqe-[-\-ambpw 20000 cq] KpUvhnÂ Bbpw sIm­p-h-cp-¶p. A 

bpw B bpw  KpUvhnÂ XpI-bpsS ]IpXn DS-s\-X-s¶-]-W-ambn ]n³h-en-¡p-¶p. CXnsâ 

tPÀWÂ F³{Sn FgpXpI       (3) 
12. The Average profit of a firm for the last 4 years is 60,000. The capital employed by 

the firm is  5,00,000 and the normal rate of return is 9%. Calculate the value of 

goodwill on the basis of 2 years purchase of super profit. 

Hcp Øm]-\-̄ nsâ Ignª 4 hÀjs¯ icm-icn em`w 60,000 cq]-bm-Wv. Øm]-\-

¯nse aqe-[-\- \n-t£]w 5,00,000 cq]bpw km[m-cW hcp-am\ \nc¡v aqe-[-\-\nt£]-

¯nsâ 9% hpw B-Wv. kq¸À t{]m^n-änsâ c­v aS§v F¶v IW-¡m¡n kÂt -̧

cnsâ XpI Is­-̄ p-I.   (4) 

13. The profit earned by a firm during the last four years are given below. 
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 Year   2000   2001   2002   2003 
 Profits  15000  20000  22500  42500 
The capital employed in the business is  1,50,000. Normal rate of return is 10%. 
Calculate the value of goodwill under capitalization of super profit method. 
Hcp ]mÀSvWÀjn¸v  Øm]\w Ignª \mep-hÀjw t\Snb em`-amWv Xmsg sImSp-̄ n-

cn-¡p-¶-Xv.  

Year 2000 2001 2002 2003 

Profits 15,000 20,000 22,500 42,500 

Øm]-\-̄ nÂ \nt£-]n-̈ n-cn-¡p¶ aqe-[\w 1,50,000 cq]-bm-Wv. km[m-c-W -D-­m-

Ip¶ em`-\n-c¡v 10%. A[nIem`-̄ nsâ aqe-[-\-hÂ¡-c-W-̄ n-eqsS Øm]-\-

¯nsâ KpUvhnensâ hne IW-¡m-¡p-I        (4) 

14.  Explain the different methods of valuation of goodwill 

KpUvhnÂ I­p-]n-Sn-¡p-¶-Xn-\pÅ hnhn[ coXn-IÄ hni-Zo-I-cn-¡pI. (5) 

a.  Given below is the balance sheet of Ananthu and Shijin who share profits 

and losses in the ratio of 3:2 

A\-́ p, jnPn³ F¶n-hÀ  3:2 F¶ A\p-]m-X-̄ nÂ em`-\jvSw ]¦p-h¨v    \S-̄ p¶ 

Øm]-\-̄ nsâ _me³kvjoäv Xmsg X¶n-cn-¡p-¶p. 

Balance sheet 
Liabilities Amount Assets Amount 
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Creditors 

Partners Capital A/c : 

       Ananthu         50,000 

       Shijin              40,000 

30,000 

 

 

90,000 

 

1,20,000 

Cash 

Debtors 

Stock 

Machinery 

Furniture 

10,000 

20,000 

30,000 

40,000 

20,000 

1,20,000 

Mr. Balan is admitted into the partnership on the following terms. 
Xmsg ]d-bp¶ \n_-Ô-\-IÄ¡v hnt[-b-ambn {io _me³ F¶-bmsf _nkn-

\kv ]¦m-fn-bmbn tNÀ¡p-¶p. 

(1) The New partner has to bring Rs. 30,000 as capital and Rs. 10,000 as goodwill 

 for  th share. 

 ]pXnb ]¦m-fn- Iym¸n-ä-embn 30,000 cq]bpw KpUvhnÂ C\-̄ nÂ 10,000 

 cq]bpw sIm­p-h-c-Ww. At±-l-̄ nsâ em`-hn-lnXw  BWv. 

(2) A creditor of Rs. 2000 will not claim his amount. 
2000 cq] \ÂIm-\pÅ Hcp {IUn-äÀ {]kvXpX XpIBh-iy-s¸-SnÃ F¶v hyà-am-¡n. 

(3) Furniture is revalued at Rs. 15000 
 ^ÀWn-̈ -dnsâ ]pXnb hne 15000 cq] BWv. 

(4) Stock reduced by 2000. 
 tÌm¡nsâ hne-bnÂ 2000 cq]-bpsS Ipdhv kw`-hn-¨p. 

(5) Depreciation on Machinery @15%.p.a 
 sajo-\-dn¡v 15% hmÀjnI \nc-¡nÂ Un{]o-kn-tb-j³ NmÀÖv sN¿Ww. 

 Prepare revaluation a/c, Partners capital a/c and the Balance sheet after 
 admission          (8) 

15.  The following is the Balance sheet of Anu and Vinu sharing Profits and losses in the 

ratio of 3:2 as on 31st SMarch 2016. 
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31 amÀ v̈ 2016 se 3:2 F¶ A\p-]m-X-̄ nÂ A\phpw hn\phpw ]¦n-Sp¶ em`-\-jvS-

§fpsS _me³kvjoäv NphsS tNÀ¡p-¶p. 

Balance Sheet 
Liabilities Amount Assets Amount 

Creditors                       

Outstanding expenses 

Capital      Anu 17,000 

                 Vinu 19,000 

 

45,000 

9000 

 

36,000 

90,000 

Cash 

Sundry assets 

 

10,000 

80,000 

 

 

90,000 

They admit Nandhu in to partnership on 1st April 2016 on the following terms 
Xmsg ]d-bp¶ hyh-Ø-I-fpsS ASn-Øm-\-̄ nÂ AhÀ \µp-hns\ G{]nÂ 1, 2016 

Â ]¦m-fn-bmbn tNÀ¡p-¶p. 

1) That Nandhu pays Rs.10,000 as capital and Rs. 5000 as goodwill for ¼th share in 

future profits. 

2) Sundry assets be valued at Rs. 72000 

3) That the capital accounts of all partners be readjusted on the basis of their profit 

sharing arrangements by bringing in or paying off cash as the case may be. 

Prepare Ledger accounts and Balance Sheet immediately after Nandhu’s admission 
         

CHAPTER -4 
RECONSTITUTION OF PARTNERSHIP FIRM 

RETIREMENT /DEATH OF A PARTNER 

1. The loss or gain on account of revaluation at the time of retirement of a partner is 

shared by......................... 

Hcp  ]¦mfn hnc-an-¡p¶ kab v̄ ]p\À aqey-\nÀ®b A¡u­v {]Im-c-apÅ 

\jvStam t\«tam  ]¦p-h-¡p-¶Xv ................................. 
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 (a) Remaining partners    (b) Retiring partner 

 (c) All partners     (d) New partner    (1)  

2. A retiring partner took over Machinery worth Rs. 20,000 for Rs. 15000. His capital 

A/C balance before adjusting the above is 70,000. His loan A/c will show a balance of 

Rs.......................... 

hnc-an-¡p¶ Hcp ]¦mfn 20,000 cq] hne-bpÅ  sajn-\dn 15000 cq]bv¡v Gsä-Sp-¡p-¶p. 

CXv tcJ-s¸-Sp-̄ p-¶-Xn\v ap¼pÅ Abm-fpsS  aqe-[\ A¡u­v _me³kv 70000  cq]  

BWv. Abm-fpsS tem¬ A¡u­v ImWn-¡p¶ _me³kv ....................... BWv.  

3. X, Y and Z are partners in a firm sharing profit and losses in the ratio of 7:5:4. Z 

retired from the business Gaining ratio of X and Y will be ................ 

X, Y, Z F¶n-hÀ ]¦m-fn¯ _nkn-\-Êp-Im-cm-Wv.  Z _nkn-\-ÊnÂ \n¶pw hnc-an¨p. X, Y  

F¶n-h-cpsS t\« A\p-]mXw F´mWv ?  

 (a) 7:4  (b) 4:7  (c) 7:5 (d) 1:1  (1)  
4. Gaining ratio is equal to ...................... 

t\« A\p-]mXw ................... \p Xpey-am-Wv.  

 (a) New share – old share   (b) Old share - new share  

 (c) Old share + New share   (d) None of these    (1) 

5. Amount of goodwill payable to the retiring partner is shared by remaining partners 
in  .................. ratio.  
]ncnªp t]mIp¶ ]mÀSvWÀ¡v sImSp¡p¶ KpUvhnÃnsâ XpI _m¡n-bpÅ ]mÀ«-

WÀamÀ ..................... tdtjym-bnÂ hoXn-¡p-¶p.  

 (a) Old  (b) New  (c) Sacrificing  (d) Gaining    (1)  
6. Amount payable to the deceased partner is transferred to...................... 

ac-W-s¸«p t]mb ]mÀSvWÀ¡v sImSp¡p-hm-\pÅ XpI ............ A¡u-­n-te¡v 

amäp¶p. 

 (a) His loanA/c (b) Current A/c  
 (c)Executors loan A/c   (d) Capital A/c     (1)  
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7. X, Y and Z are equal partners. Z retires from the firm .On the date of his retirement, 
the Balance Sheet of the firm showed a general reserve of Rs.60,000. Give journal 
entry.  

X,Y,Z F¶n-hÀ Xpey-]-¦m-fn-I-fm-bpÅ Øm]-\-̄ nÂ \n¶pw Z hnc-an-¡p-¶p. At¶ 
Znhkw _me³kv joänÂ 60,0000 cq] P\-dÂ  dnkÀÆv Bbn ImWn-¡p-¶p. tPÀWÂ 

F³{Sn Fgp-Xp-I.               (2) 
8.  Raju, Sabu and Vinu are partners sharing profits and losses in the ratio of 3:2:1. 

Vinu  retires from the firm. Raju and sabu decided to share future profits in the ratio of 

7:5. Calculate gaining  ratio. 

cmPp, km_p, hn\p F¶n-hÀ em`-\jvSw hoXn-¡p-¶Xv 3:2:1 F¶ A\p-]m-X-̄ n-em-Wv. 

hn\p Øm]-\-̄ nÂ \n¶pw hnc-an-¡p-¶p. cmPphpw km_pw  `mhn-bnÂ D­m-Ip¶ 

em`w  7:5 F¶ A\p-]m-X-̄ nÂ hoXn-¡p-hm³   Xocp-am-\n-̈ p. t\« A\p-]mXw I­p-

]n-Sn-¡p-I.      (2) 

9. Anu and Reena are partners in a firm sharing profits and losses in the ratio of 3:2. The 

profit of the firm for the year ending on 31st December 2017 was Rs.5,00,000. Reena 

died on June 30, 2018. Calculate her share of profit or loss from Ist January 2018 to 

June 30 2018. Also write journal entry                    (3) 

A\phpw do\bpw Hcp Øm]-\-̄ nse ]¦m-fn-Ifpw 3:2 F¶ A\p-]m-X-̄ n Â em`-\-

jvS-§Ä ]¦p-h-¡p-¶-h-cp-am-Wv. 2017 Unkw-_À 31\v Ah-km-\n-¡p ¶ hÀjs¯ 

Øm]-\-̄ nsâ  em`w 5,00,000 cq]-bm-bn-cp-¶p. 2018 Pq¬ 30\v do\ ac-W-s¸-Sp-¶-p. 2018 

P\p-hcn 1 apXÂ Pq¬ 30 hsc-bpÅ do\-bpsS em`-\-jvS- hn-lnXw IW-¡m-¡p-Ibpw 

Bb-Xn-\pÅ tPÀWÂ F³{Sn Fgp-Xp-Ibpw sN¿p-I.  

10.  In which ratio the following are shared by partners?    NphsS X¶n-
cn-¡p-¶-hsb ]¦m-fn-IÄ GXv A\p-]m-X-¯n-emWv hoXn-s¨-Sp-¡p-¶-Xv.  

(a) Goodwill payable by the incoming partner  

 ]pXnb  ]¦mfn \ÂIp¶ KpUvhÂ 

 (b) Goodwill payable to the outgoing partner.  

 hnc-an-¡p¶ ]¦m-fn¡v \ÂIp¶ KpUvhnÂ 
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   Also write any 2 differences between these ratios             (4) 

11. Manu, Somu and Ramu are partners in a firm sharing profits in the ratio of 3:2:1. 

Manu retires from the firm on 30th June 2018. His capital account showed a credit 

balance of Rs. 80,000. He is entitled to get interest on capital at 10% Pa. The firm had 

general reserve of Rs. 20,000. The profit of the firm up to the date of retirement is to 

be ascertained on the previous year’s profit which was 25000- Manu is paid Rs. 6000 

immediately in cash. Prepare his capital account. Books are closed on 31st December 

every year.      (4) 

]¦m-fn-I-fmb a\phpw tkmaphpw cmaphpw em`w ]¦n-Sp-¶Xv 3:2:1 F¶ A\p-]m-X-¯n-

em-Wv. 2018 Pq¬ 30 \v a\p hnc-an-¡p¶p. Abm-fpsS aqe-[\ A¡u-­nÂ 80,000 

_me³kp-­v. aqe-[-\-̄ n\v 10% hmÀjnI  ]eni  \ÂI-Ww. Øm]-\-̄ nsâ P\-dÂ 

dnkÀÆv 20,000 cq]-bm-Wv. hnc-an-¡p¶ Znhkw hsc-bpÅ Øm]-\-̄ nsâ em`w 

Ignª hÀjs¯ em`-amb 25,000 cq]sb ASn-Øm-\-am¡n IW-¡m-¡-Ww. a\p-hn\v 

Bdm-bncw cq] DS³ ]W-ambn \ÂIp-¶p. IW-¡p-IÄ XoÀ¸m-¡p-¶Xv Unkw-_À 31 

BWv. Abm-fpsS aqe-[\ A¡u­v X¿m-dm-¡pI?       

    

12. State any four elements appear on the credit side of a deceased partner’s capital 

account. 

acn¨p t]mb Hcp ]¦m-fn¯ _nkn-\-Êp-Im-csâ  aqe-[\ A¡u-­nsâ s{IUnäv 

sskUnÂ hcp¶ GsX-¦nepw 4 C\-§Ä Fgp-Xp-I.   (4)  

13. Nandana, Vrinda and Megha are partners in a firm sharing profits and losses  in the  

ratio of 3:2:1. On 31st March 2018  Vrinda retired from the business. On that date 

goodwill of the firm was valued at Rs.1,00,000. Nandana and Megha decided to 

continue in the business in the ratio of 1:1. Pass journal entry for  the Vrinda’s share 

of goodwill.  
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\µ-\, hrµ, taL F¶n-hÀ 3:2:1 F¶ A\p-]m-X-̄ nÂ em`-\-jvS-§Ä hoXn-

¡p¶ ]¦m-fn-I-fm-Wv. 31 amÀ v̈ 2018 Â hrµ _nkn-\-ÊnÂ \n¶pw hnc-an-̈ p. hnc-an-

¡p¶ Znhkw _nkn-\-ÊnÂ kÂt -̧cnsâ aqeyw 1,00,000 cq]-bmbn ImWn-¡p-¶p. \µ-

\bpw taLbpw _nkn-\-ÊnÂ 1:1 F¶ A\p-]m-X-̄ nÂ XpS-cp-hm³ Xocp-am-\n-̈ p. 

hrµbv¡v sImSp¯p-hn-tS-­ kÂt -̧cnsâ ]¦n-s\-̧ -än-bpÅ tPÀWÂ F³{Sn Fgp-Xp-

I,       (4) 

14. A, B and C were partners in a firm sharing profits and losses in the ratio of 4:2:1. The 
firm closes its books on 31st march every year.  C died on 1st October 2018. His capital 
A/c has opening balance of Rs. 20,000. Prepare C’s capital  account on the basis of the 
following  

Abpw Bbpw Cbpw 4:2:1 F¶ A\p-]m-X-̄ nÂ em`w/\jvSw ]¦n-Sp-¶ ]mÀSvWÀam-cm-Wv. 

I¼\n FÃm hÀjhpw amÀ v̈ 31 \v _p¡p-IÄ t¢ mÊv sN¿p-¶p. C 

HIvtSm-_À 1, 2018 \p ac-W-s¸-Sp-¶p. Xmsg ]d-bp¶hbpsS ASn-Øm-\-̄ nÂ  C bpsS  

Iym]n-äÂ A¡u­v X¿mdm¡pI. 

1) Goodwill be valued at 3 years purchase of average profits of the previous 5      

     years. The average profits of previous 5 years were Rs. 16000.  

2) Revaluation profit was Rs.18000. 

3) Profit for the year 2017-2018 be taken as have acquired at the same rate as  

     the previous year which was Rs.50,000.       (4) 

15. The amount due to a partner on his retirement is 5,00,000. As per the agreement he 

will be paid Rs. 50,000 in cash and the balance in 3 equal annual installments with 

interest at 10%. Prepare his loan account.  

hnc-an-¡p¶ Hcp ]mÀ«-WÀ¡v e`n-¡p-hm-\pÅ XpI 5,00,000 cq]-bmWv. IcmÀ {]Imcw 

AbmÄ¡v 50,000 cq] ]W-ambpw _m¡n  XpI aq¶v Xpey KUp-¡-fmbn 10% ]eni 

klnXw \ÂIp-¶-Xm-Wv. Abm-fpsS tem¬ A¡u­v X¿m-dm-¡p-I.    

       (4) 
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16. Adithyan, Nandhu, and Rijin were partners sharing profit and losses in the ratio of 

3:2:1. On 1st April 2018  Nandhu retires. On that date their balance sheet was as 

follows  

BZn-Xy-\pw \µphpw dnPn\pw 3:2:1 F¶ A\p-]m-X-̄ nÂ em`hpw \jvShpw hoXn 

¡q¶hcm-Wv. 2018 G{]nÂ  1þmw XobXn \µp hnc-an-¡p-¶p. B Znh-ks¯ Ah-cpsS 

_me³kv joäv Xmsg X¶n-cn-¡p-¶p.  

Balance Sheet 

Liabilities  Amount Assets  Amount  

Creditors  

Bills Payable 

Expenses outstanding  

General Reserve  

Capital :                                  

        Adithyan 

        Nandhu 

        Rijin 

3000 

12000 

12000 

13500 

 

15000 

10,000 

5000 

Cash 

Debtors 

Stock 

Premises 

Machinery 

Furniture 

9000 

15000 

12000 

20500 

10,000 

4000 

 70500  70500 

The terms were  

(1)  Goodwill of the firm was valued at Rs. 13000  

 kÂt -̧cnsâ XpI 13000 cq]-bmbn IW-¡m-¡p-¶p.  

(2) Expenses  outstanding to be brought down to Rs. 3750  

 sImSp¡p-hm-\pÅ Nne-hp-IÄ 3750 Bbn Ipdhp sN¿p-¶p.  

(3) Machinery and furniture are to be  valued at 10% less than the book value. 
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  sajo\-dn-bp-sSbpw ^ÀWn-¨dn-sâbpw hne-IÄ _p¡v hne-tb-¡mÄ 10% 

 Ipd¨p IW-¡m-¡-Ww.  

(4) Premises are to be revalued at Rs.24300  

 {]nssakkv 24300 Bbn ]p\Àaq-ey-\nÀ®bw sN¿-Ww.  

Prepare Revaluation A/c, Partners capital Account and Balance Sheet of the firm after 

retirement of Nandhu.         (6) 
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CHAPTER-5 

DISSOLUTION OF PARTNERSHIP 
1. The business of a partnership firm is terminated when ------- take place. (1) 

പ׸ാളിر ؋ാപനം അടു׺പൂ؂ുؗതിെനയാണ് ------എؗ ്പറയുؗത.് 

a) Dissolution of partnership b) Retirement of a partner c)Death of a partner  d) 
Dissolution of the firm.               

2.  Mention the name of account  where profit or loss on realization is  transferred.. (1)   
റിയൈലേസഷൻ അׯൗ؇ിൽ ഉ؇ാകുؗ ലാഭവും നذവും ഏത ്
അׯൗ؇ിേലׯാണ ്  മാؗുئത്                                  

3. What journal entry will be passed if realisation expenses are paid by a partner on 
behalf of the firm? (1) 
റിയൈലേസഷൻ െചലവുകൾ رാപന؋ിന് പകരമായി ഒരു പ׸ാളി െകാടു്؋ 
തീർുׯേآാൾ േരഖെؚടുؗു؋ േജർണൽ എൻْടി എഴുതുക                                             

4. Find the old one out. ഒƃെżŨ തിെന കെŪŮുക  

a)Admission of a partner   b) Retirement of a partner  c) change in profit sharing 
ratio d) dissolution of the firm        (1) 

5. Provision for bad debt that appearing in the books at the time of dissolution is 
transferred to ----           (1) 
പŠ് പിരിയുേƀാൾ ബുŚിലുƄ കിŨാŚടŮിŀെറ കരുതൽ എേšാŨാĻ മാƃƧŹļ 

a)Partners Capital account b) Realisation Accountc)cash Account  d)None of these.                              
6. One of your friend is confused with the revaluation account and realisation account.  

How will you explain to him the difference between these two?  (2) നിšളƧെട 

ഒരു സുഹൃŮിŀ   റീവാലുേവഷൻ അŚൗŪും റിയ ൈലേസഷൻഅŚൗŪും  

സംബŸിŢƧ  ഒരു ആശയŚുഴżം ഇവ തƁിലുƄ വŖതŖാസšൾ അയാെള എšെന 

േബാധŖെżടുŮാം?  
7. Complete the table given below  (2)                               
 തŹിരിŚുŀന പൂർŮീകരിŚുക  

Description Journal entry 



 

 
 
 
 
 
 

23 

 

Transfer of Asset Realisation A/C         Dr 

To Asset 

Transfer of liabilities ? 

            ?  Bank A/C                   Dr 

To Realisation 

8. Mention two situations in which"  Compulsory   Dissolution "of a partnership take  
place. (2) 
ഒരു പŠാളിŮ ƉാപനŮിൻെറ നിർബŸിത അടŢƧപൂŨലിനു  വഴിെതളിŚുŹ രŪ് 
സാഹചരŖšൾ എഴുതുക.                                                   

9. Pass Journal entries on dissolution of a firm in connection with realisation of asset   
in the following cases.            (2) 
Ɖാപനം അടŢƧപൂŨƧേƀാൾ ആŏതികൾ വിƃഴിŚലുമായി ബŸെപŨƧ 

നൽകിയിരിŚുŹ സാഹചരŖšളിൽ േജണൽ േരഖെżടുŮൽ നടŮുക  

a)Machinery  worth Rs. 10,000 taken over by Mr. Ram, one of the partners at the 
book value.  
റാം എŹ പŠാളി 10,000 രൂപയുെട െമഷിനറി  ബുŚ് വിലņŚ് ഏെƃടുŚുŹു  

b)Un recorded Furniture sold out for Rs.5000.  
കണŚിൽഉൾെżടാŮ  ഫർണിŢർ 5000 രൂപņŚ് വിƃƧ            

10. Explain the order in which the amount realised  through the sale of asset are to be 
applied at the time of dissolution of a partnership firm.     (3) 
ഒരു പŠാളിŮ ƉാപനŮിൻെറ അടŢƧപൂŨൽ സമയŮ് ആŏതികൾ വിƃ് ലഭിŚുŹ 

തുക വിനിേയാഗിേŚŪ ŗകമം ഏെതŹ് വിശദീകരിŚുക        
11. Beena and  Vinu were  partners sharing profits and losses in the ratio of 3 :2. On 

the date of dissolution their capitals were: Beena  Rs.70,000 and Vinu  Rs.45,000. 
The creditors amounted to Rs. 2 75000. The balance of cash was Rs.17,000. The 
assets realised Rs 259,000,  the expenses of realisation were Rs.15,000. Beena  and 
Vinu  were solvent. Close the books of the firm, showing the Realisation Account, 
Capital Account and Cash Account.      (6) 
Hint: Book value of asset on the date of dissolution is to be ascertained by 
preparing a Balance Sheet.  
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ബീനയും വിനുവും 3:2 എŹ അനുപാതŮിൽ ലാഭം വീതി ŚുŹ പŠാളികളാĻ. 

അവരുെട Ɖാപനം ŗപവർŮനം നിർŮാൻ തീരുമാനിŢ ദിവസം അവരുെട 

മൂലധനനിേŜപം ബീന 70000 രൂപ വിനു 45000 രൂപയും ആĻ. ƉാപനŮിŀ  2,70,000 

രൂപയുെട െŗകഡിേƃŋŏ  ഉŪ്. നീ Śിയിരിż് 15000  രൂപയായിരുŹു. ബീനയും വിനുവും 

േസാൾവŀň  ആയിരുŹു. റിയൈലേസഷൻ അŚൗŪ്, കŖാപിƃൽ അŚൗŪ്, കŖാŎ 

അŚൗŪ് എŹിവ തƂാറാŚിെകാŪു ബുŚ് േƎാŏ െചƂƧക. 

സൂചന :ഒരു ബാലൻŏ ഷീƃ് തƂാറാŚി ഡിേസാലുഷൻ തീയതിയിെല ആŏതികളƧെട 

ബുŚ് വില കŪുപിടിŚുക                        (6) 

12. X and Y are Partners in a firm sharing profits and losses in the ratio 4:1 
respectively. They decided to dissolve the Firm on 31st March 2018. On that date 
their Capital stood at Rs.200000 and Rs.160000  respectively.  Amount owed by Y 
to the firm was Rs.69,000 and there was loan by X  for Rs.75000. Creditors were 
Rs.480,000, sundry assets Rs.729000  and cash Rs.45,000. Sundry assets realised 
6,67,000. Realisation expense amount to Rs.16,000  
Prepare  Realisation Account, Capital Account  and Cash Account of Partners 
assuming that both the partners are solvent.  
X ഉംY യും ഒരു ƉാപനŮിെല പŠാളികളാĻ.ഇവർ4:1 എŹ അനുപാതŮിൽ 

ലാഭനƈšൾ പŠിടുŹു 2018 മാർŢ് 31 ആം തീയതി Ɖാപനം പൂŨƧവാൻ  തീരുമാനിŢƧ 

ഈ തീയതികളിൽ ഇവരുെട മൂലധനം യഥാŗകമം 200000 രൂപയും 120000 രൂപയുമാĻ. 

69,000 രൂപ Y ƉാപനŮിŀ നൽകാനുŪ് ƉാപനŮിൽ നിŹും X 75000 രൂപ േലാൺ 

എടുŮിŨƧŪ്. െŗകഡിേƃŋŏ  480000  രൂപ, ആŏതികൾ 729000 നീŚിയിരുż് തുക 45000 

രൂപ.  ആŏതികൾ വിൽżന നടŮി 667000 രൂപ ലഭിŢƧ. റിയ ൈലേസഷൻ  െചലŌ 16000 

രൂപയായി. രŪ് പŠാളികളƧം േസാൾവŀň  ആെണŹ് സŠŉപിŢƧെകാŪു റിയ 

ൈലേസഷൻ   അŚൗŪ്, കŖാപിƃൽ അŚൗŪ്, കŖാŎ അŚൗŪ് എŹിവ തƂാറാŚുക  

13. Seeta and Geetha are partners sharing profits in the ratio of 3 : 2. They decided to 
close the firm and their Balance Sheet is given below.  

സീതയും ഗീതയും 3:2 എŹ അനുപാതŮിൽ ലാഭം വീതം വņŚുŹ പŠാളികളാĻ. അവർ 

അവരുെട Ɖാപനം പൂŨƧവാൻ തീരുമാനിŢƧ. ബാലൻŏ ഷീƃ് താെഴ െകാടുŮിരിŚുŹു     

                                                                            Balance Sheet 

Liabilities Amount Assets Amount 
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Claims payable 
Creditors 
Seetha's loan  
Bank loan 
profit and loss account 
 Capital: 
        Seetha :   40000 

Geetha :  30000 

32000 
32000 
18000 
80000 
18000 

 
 

70000 
 
 
 

250000 

Cash at bank 
Debtors 
 Stock-in-trade 
 furniture  
Plant 
 Building  

10000 
30000 
70000 
40000 
60000 
4000 

 
 
 
 
 

250000 

Assets realised as follows:                    
  Building:Rs.32000, Debtors Rs.31000,furniture Rs.40000.  

Liabilities settled as follows: Plant  taken over by Bank at   Rs.66,000 in respect of 
the loan granted by bank and the rest has been paid in cash. Creditors are settled at 
Rs.30000. Realisation expense came to Rs.2000  which have been paid by Geetha 
Prepare necessary accounts to dissolve the firm and ascertain the amount due to or 
due from the partners. 
ആŏതികൾ വിƃ് കിŨിയļ െകŨിടം 32,000 രൂപ െഡŁƃർŏ 31000 രൂപ ഫർണിŢർ 40,000 

രൂപ. ബാധŖതകൾ തീർŮļ  Ɨാൻň 66000 രൂപയിŨ് ബാŠ് അവരുെട േലാണിൽ നിŹ് 
കിŨാനുƄ തിൽ വകയിരുŮി. ബാŚി തുകയായി നൽകി. െŗകഡിƃർസിŀ 30000 രൂപ 

െകാടുŮു  െസƃിൽ െചņതു. റീയലിെസഷനു െചലവായ തുക 2000 രൂപ ഗീത വഹിŢƧ. 

ƉാപനŮിൻെറ പിരിŢƧവിടുŹļ േവŪിയുƄ അŚൗŪുകൾ തƂാറാŚുക 

പŠാളികൾŚ് െകാടുŚാനുƄļ അവരിൽ നിŹ് ഈടാŚാൻ ഉƄതും എŗതയാĻ എŹ് 
കെŪŮുക.  
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PART –B  COMPUTERISED ACCOUNTING 
CHAPTER 1 

OVERVIEW OF COMPUTERISED ACCOUNTING SYSTEM 

1  Which among the following is not an accounting package.    (1) 
താെഴ െകാടുŮിŨƧƄതിൽ ഏതാĻ അŚൗŪിംį പാേŚĴ അലīാŮļ  

A . GNU khata.  B. visual basic.   C. Tally.   D.Dac Easy. 
2. Which among the following is not a physical component of a computer.  (1) 

താെഴżറയുŹവയിൽ ഒരു കƀŖൂŨറിൻെറ ഭൗതിക ഘടകം അലīാŮļ ഏļ? 

   A) Hard disc B) Processor  C)Software D) Main board 
3.  Find the odd one out and give reason.        (1) 

 കൂŨŮിൽ െപടാŮļ കŪുപിടിŚുക കാരണം വŖśമാŚുക. 

    A) Printer  B) Scanner  C) Mouse  D) UPS 
4.  Expand VDU    VDU വിപുലീകരിŚുക      (1) 
5.  When data is processed, it becomes..........       (1) 

േഡƃാ െŗപാസŏ െചƂƧേƀാൾ അļ......... ആകുŹു. 

6.  When data is transformed, what it is called?       (1) 
േഡƃാ പരിവർŮനം നടŮുേƀാൾ അതിŀ എŵ് വിളിŚുŹു? 

7.  Which program helps a computer to start its function and makes them user 
interactive?            (1) 
ഏതു േŗപാŗഗാം ആĻ കƀŖൂŨറിൻെറ ŗപവർŮനം ആരംഭിŚുŹതിനം സംേവദനാűക മാ 

ŚുŹതിനും സഹായിŚുŹļ.? 
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 8.  Expand CAS . സി. എ. എŏ. വിപുലീകരിŚുക.       (1) 

 9. Expand MIS.   . എം. ഐ. എŏ         (1) 

 10.  Explain data and information. േഡƃയും ഇൻഫർേമഷനും എെŵŹ് വിശദമാŚുക  (2) 
11.   Explain the security features of CAS software      (3) 

 C AS േസാłƃ്െവയർ നിൻെറ സുരŜാ സവിേശഷതകൾ വിശദീകരിŚുക. 

12. List out the types of codes with examples.      (4) 
       വിവിധതരം േകാഡുകൾ  ഉദാഹരണ സഹിതം പŨികെżടുŮുക. 
13.  List out the advantages of computerised accounting system.   (4) 

കƀŖൂŨൈറŏĹ  അŚൗŪിംį സിƊŮിŀെറ േനŨšൾ പŨികെżടുŮുക. 
14.  What are the limitations of CAS ?       (4) 

സി. എ. എŏ  .ŀെറ പരിമിതികൾ കൾ എെŵലīാം.? 

15.   what is meant by accounting information system? What are its subgroups? (4) 
      അŚൗŪിംį ഇൻഫർേമഷൻ സിƊം എŹതുെകാŪ് എŵാĻ അർůമാŚുŹļ ? 

       ഇതിൻെറ ഉപ ŗഗൂżƧകൾ ഏെതലīാം ?  

CHAPTER 2 

SPREADSHEET  

1Score qestions  
1.  The number of worksheets in libre office calc is seen by default when you open a 

workbook is ............ 
നിšൾ ഒരു വർŚ് ബുŚ് തുറŚുേƀാൾ ƉിരƉിതിയായ വർŚ് ഷീƃ്ൻറഎŬം എŗത?  

a)  5. b).  2.  C).   3.    d).  1 
2.  The intersection of rows and columns in a spreadsheet is called.......... 
     ഒരു ŏെŗപĹഷീƃ്ൽ  േറായും  േകാളവും ഒŮുേചരുŹടŮിŀ പറയുŹļ .............. 

  a) range. b). Cell. C)   cell reference  d). Cell pointer 
3.  Dollar symbol is prefix word on the column and row names in a formula is: 

േകാളŮിŮിൻെറയും വരിയുെടയും േപരിനു മുŹിൽ േഫാർമുലയിൽ േഡാളർ ചിƌം 

േചർŚുŹļ ........ ൽ ആĻ. 

a)  mixed  cell-reference   b)absolute cell reference. c)   relative cell reference.  d) 
all of these. 

4.  Which function is used to count only those cells which meet user-defined criteria? 
ഉപേയാśാŚെള നിർവചിŢƧ മാനദūšൾ പാലിŚുŹ െസലīƧകെള മാŗതം കണŚാŚാൻ ഏļ 

ഫംįഷൻ ആĻ ഉപേയാഗിŚുŹļ? 

   a) COUNTA  b)  COUNT  c)  COUNT IF d)  COUNT BLANK 
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5.  The Calc  built in function is used to calculate accrued interest on a security which 
pays periodic interest. 

   െസകŖൂരിƃി കൾŚ് ആനുകാലിക പലിശ നൽകുŹ കാൽĭ ബിൽƃ് ഇൻ ഫംįഷൻ ആĻ.......... 

   a) PV   b) CUMIPMT  c)  ACCRINT   d)  PMT 
6.  Table which allows us to create a cross tabulation summary in   a enhanced layout 

is ............ 
െമŢെżടുŮിയ ഒരു േല ഔŨിൽ   ഒരു േŗകാŏ സംŗഗഹം സൃƈിŚാൻ അനുവദിŚുŹ േടബിൾ 

ഏതാĻ ? 

  a) Datatable  b) Pivot table C) Data form  D) Data sheet 
7.  PMT function is used for calculating............ 
     പി എം ടി ധർƁം ഉപേയാഗിŚുŹļ......... കണŚാŚുŹതിനാĻ 

 a) Depreciation  b) Loan payment installment   C) Pivot table              d)  Payroll  
8.   From the following identify the suitable element  in financial function representing 

the number of payments. 
താെഴ െകാടുŮിŨƧƄവയിൽ നിŹും ഫിനാൻഷŖൽ ധർƁŮിെല  തവണകളƧെട എŬെŮ 

സൂചിżിŚുŹ ഘടകം തിരിŢറിയുക. 
  a) PV    b)  FV  C)Nper  D)  Rate 

9.   From the following find the odd one out. 
      താെഴ െകാടുŮിŨƧƄതിൽനിŹും കൂŨŮിൽ െപടാŮļ കŪുപിടിŚുക. 

    a) Software. b).  People    C)Hardware  C) Malware. 
10.  The code TVM is assigned to Thiruvananthapuram. This is an example of ...,........ 

code. 
തിരുവനŵപുരŮിŀ നൽകിയിŨƧƄ േകാĹ TVM ആĻ. ഇļ ഏതു േകാഡിŀെറ  ഉദാഹരണമാĻ . 

   a) Sequential code  b)Block code  C)Mnemonic code  D )  None of these 
11.  Range of numbers are used for codification in................     

േകാഡിഫിേŚഷൻ നടŮുŹതിŀ ഉപേയാഗിŚുŹ അŚšളƧെട േŗശണിയാĻ. 

    a) Sequential code b)  Mnemonic code  c)Block code  d) All of these. 
12.   Libreoffice calc is a................. software. 

ലിബർ ഓഫീŏ കാൽŚ് ........... േസാłƃ്െവയർ ആĻ. 

     a) Database b)Text documents c) Presentation D) Spreadsheet. 
13.  A spreadsheet file is called .................. ഒരു ŏെŗപĹഷീƃ് ഫയലിെന വിളിŚുŹļ............. 
     a) Range b) Workbook  c)Worksheet  d)Pop-up menu 
14. Identify the function which converts date into the corresponding internal date 

number. 
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തീയതിെയ അനുബŸ ആŵരിക തീയതി നƀറിേലŚ് പരിവർŮനം െചƂƧŹ ഫംįഷൻ 

തിരിŢറിയുക. 

a) NOW   b )DATE  c) DATE VALUE  d) TODAY. 
15.  Identify the function which displays the current system date. 

നിലവിെല സിƊം തീയതി ŗപദർശിżിŚുŹ ഫംįഷൻ തിരിŢറിയുക. 

 a) DATE VALUE  b)NOW c) DATE  d)TODAY. 

16.   If function comes under......... 
       If ഫംįഷൻ ഉൾെżടുŹļ.......... 

     a) Statistical b) Logical c) Spreadsheet d) Text manipulation. 
17.   A function inside another function is called......... 

മെƃാരു ഫംįഷൻ ഉƄിെല  ഒരു ഫŠ്ഷŀ .......... എŹ് വിളിŚുŹു. 

a) Round function  b)Nested function c) Next function  d) Sum function. 
18. ' Multiple operation' option is available in ....... tab. 

  ŏെŗപĹഷീƃി ൽ ഏļ ടാബിൽ ആĻ മൾŨിżിൾ ഓżേറഷൻ ഓŁഷൻ ലഭŖമാകുŹļ. 

a). Insert b) File  c)Data D) Table 
2 Scores questions  

19.  Find the odd one out and give reason.  
കൂŨŮിൽ െപടാŮļ കŪുപിടിŚുക കാരണം വŖśമാŚുക. 
a) SUM   b) AND  c) OR  d) IF 

20.  State the reason for the following errors commonly found in spreadsheet. 
ŏെŗപĹഷീƃിൽ െപാതുവായി കാണെżടുŹ താെഴ സൂചിżിŚുŹ െതƃƧകളƧെട കാരണം 

വŖśമാŚുക. 

a)  # Div/O  error b)    # N/A  error 
21    write the name of the spreadsheet functions used to compute depreciation. 

ŏെŗപĹഷീƃിൽ   ഡിŗപീസിേയഷൻ കŪുപിടിŚുŹതിŀ ഉപേയാഗിŚുŹ  ഫംįഷൻകളƧെട േപŇ 

എഴുതുക. 

 22    Complete the following series based on the hints given. 
         തŹിŨƧƄ സൂചനകളƧെട അടിƉാനŮിൽ േŗശണി         പൂർŮീകരിŚുക . 
             #Name?!     :   Text in formula is not recognised. 
                                        സൂŗതവാകŖതിെല െടĭƊ് തിരിŢറിയാൻ    കഴിയുŹിലī.. 
             #Ref!          :   ....................... 
             #VALUE!   :   .................... 

3 Scores questions  
 23.  Match the column A with B 
       േകാളം Aയും Bയും തƁിൽ േചരുംപടി േചർŚുക.       
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                  A                                                 B 

Count if Logical function 
If Text function 
Concatenate Statistical function 

24.    List out the name of functions available in Calc 
        Calc-ൽ ലഭŖമായിŨƧƄ ഫംįഷൻ കളƧെട േപŇ പŨികെżടുŮുക. 
25.   Write Syntax for the following. 
        താെഴ െകാടുŮിŨƧƄവയുെട syntax എഴുതുക. 
         a) ACCRINT        b) PMT        c)  NPV 
26. Differentiate between worksheet and workbook. 
        വർŚ് ബുŚും വർŚ് ഷീƃ് തƁിൽ താരതമŖം െചƂƧക. 
27 .   Explain cell, cell pointer and cell address. 

Cell, cell pointer cell address. എŹിവ വിശദമാŚുക. 

28.      Explain any three features of Calc. 
          Calc ൻെറഏെതŠിലും മൂŹ് സവിേശഷതകൾ  വിശദമാŚുക.                     
29.     Explain the meaning of the following. 
         താെഴ െകാടുŮിŨƧƄവ യുെട അർůം വിശദമാŚുക. 

        a) Relative cell reference       b) Absolute cell reference   C) Mixed cell reference. 
30.   Explain pivot table , list out its advantages. 

Pivot table വിശദീകരിŚുക, ഇതിൻെറ േനŨšൾ പŨികെżടുŮുക. 
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CHAPTER-3 

USE OF SPREADSHEET IN BUSINESS APPLICATION 

1. Name the statement prepared in every business to show the detailed salary 
calculations.            (1)                                                                                                                              
എലīാ ബിസിനസുകാരും ശƀളബിൽ തƂാറാŚുŹതിŀ ഉപേയാഗിŚുŹ േƊƃ് െമൻറിŀെറ 

േപെരŵ് ?  
2. SLN function is used to calculate.        (1) 

 SLN function ഉപേയാഗിŚുŹļ........ കണŚാŚാൻ ആĻ  
(a) Depreciation   b) Interest c) Profit   d) Commission  

3. Write the syntax of Equated Monthly Installments (EMl)       (1)                                                      
  EMI കണŚാŚാൻ ഉപേയാഗിŚുŹ  syntax എഴുതുക  

4. Find the odd one. ഒƃയാെന കെŪŮുക                     (1) 
a)DA   b)HRA   c)TA   d) Professional  tax     

5. Opening book value of an Assets is given in cell B1 and the rate of depreciation is 
given in cell C1 as 20% .Write formula to      (2) 
 a ) to get the amount of depreciation in cell D1 
 b) closing Book value in cell E1.         
B1 െസലīിൽ ഒരു ആŏതിയുെട തുടŚŮിലുƄ മൂലŖവും C1െസലīിൽ 20% േതņമാന നിരŚും 

നൽകിയിരിŚുŹു 
a) D1 െസലīിൽ േതņമാനം കണകാŚുŹതിനുƄ സമവാകŖം എഴുതുക 
b) E1 െസലīിൽ ആŏതിയുെട േƎാസിš് മൂലŖം എഴുതുക. 

6.  Write any 4 payroll components.                                                                        (2)                                                                                                                             
ശƀള പŨികയിെല ഏെതŠിലും നാŉ ഘടകšൾ എഴുതുക  

7. Give the syntax and explain the parameters of the following spreadsheet function.               
താഴെŮ തŹിരിŚുŹ spreadsheet functions ŀെറ സാമാനŖരൂപം എഴുതി അവയുെട സൂŗതവാകŖഘടന 

വിശദമാŚുക            (3) 
(a) SLM    b)DB    c)PMT                                  

8. Differentiate between SLN and DB function  
SLN ,DB ഫംįഷനുകൾ തƁിലുƄ വിതŖാസം എŵ് ?                             (2)  

9.  Raji is preparing a Payroll Statement. Help her  to complete the same by giving 
necessary formulas          (5) 
* DA  50 % of Basic pay 
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*PF  10% of Basic Pay 
*HRA   If Basic pay is greater than Rs. 40000 ,HRA is Rs.2000 otherwise Rs 1000 
രാജി ഒരു ശബള പŨിക  തയാറാŚുകയാĻ ആവശŖമായ സമവാകŖšൾ എഴുതി അļ 

പൂർŮിയാŚാൻ അവെര സഹായിŚുക 

DA 50 % of BP, PF 10% ,HRA  40,000 രൂപയിൽ കൂടുതൽ അടിƉാന ശƀളം ഉƄവർŚ് 2000 രൂപയും 

മƃƧƄവർŚ് 1000രൂപയുമാĻ  

       A B C D E F G 

1 Name Basic 
Pay 

DA HRA Gross 
Pay 

PF NetPay 

2 Sankar 74000      

3 Ryan 28000      

4 Reena 45000      

5 Veena 20000      

6 Alex 15000      
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CHAPTER-4 
GRAPH  AND CHARTS FOR BUSINESS  

1. In many spreadsheet Graphs and charts are available in which tab?         (1) 
മിŚ ŏെŗപĹ ഷീƃƧകളിലും ŗഗാഫുകളƧം ചാർŨƧകളƧം ലഭŖമായിŨƧƄ ടാŃ ഏļ?  

2. Can you help Mr. Kumar by pointing out the missing step to name a chart in 
spreadsheet?             (1) 
ŏെŗപĹ ഷീƃിൽ ഒരു ചാർŨിŀ േപŇ നൽകുŹതിനുƄ നടപടിŗകമšൾ ചൂŪി കാŨി ŗശീകുമാറിെന 

സഹായിŚാേമാ ?  

Click on the chart -> right Click -> ........... ->Okay.  

3. List out any four elements of a spreadsheet graph or chart?                          (2) 
ഒരു spreadsheet െല  ŗഗാł അെലīŠിൽ ചാർŨിŀെറ  നാŉ ഘടകšളƧെട േപŇ എഴുതുക  

4.  Write any four types of Chart  which can be prepared with the help of LibreOffice 
calc.                      (2) 
ലിബർ ഓഫീŏ കാൽŚിŀെറ സഹായേŮാെട തƂാറാŚാവുŹ ഏെതŠിലും നാലുതരം 

ചാർŨിŀെറ േപŇ എഴുതുക  

5. Can you help Mr. Aravind to prepare a chart  by explaining its steps.           (2) 
ചാർŨ് തƂാറാŚുŹതിനുƄ  നടപടിŗകമšൾ വിശദീകരിŢ് അരവിŷിെന സഹായിŚാേമാ ? 

6. Explain the advantages of preparing a chart.                (3) 
ഒരു ചാർŨ് തƂാറാŚുŹതിŀെറ േനŨšൾ വിശദീകരിŚുക  

7.  Write the steps to change a chart Type.              (2) 
ചാർŨ് രൂപം മാƃƧŹതിŀ ആവശŖമായ നടപടിŗകമšൾ എഴുതുക  

8. .......is an identifier of a piece of information shown in a chart.            (1) 
ചാർŨിെല വിവരšെള തിരിŢറിയുŹതിനുƄ  െചറു വിവരണŮിŀെറ സൂചകമാĻ -------. 

a) Legend  b)View  c) Format d) Formula  



 

 
 
 
 
 
 

34 

 

CHAPTER-5 
GNUKHATA 

1. Find the odd one out. ഒƃയാെന കെŪŮുക                         (1) 
a) Tally b) Gnukhata c) Libreoffice calc d) DACEASY 

2. List the name of two default ledger available in Gnukhata  
Gnukhata .          (1) 
േസാłƃ്െവയർ നിർƁാണ സമയŮ് തെŹ ലഭŖമാŚിയിŨƧƄ രŪ് െലĹജറുകളƧെട േപŇ 

എഴുതുക  
3. Write the name of the function key of journal voucher.                               (1)                                                                                                              

േജർണൽ വൗŢറിŀെറ ഫംįഷൻ കീ യുെട േപെരഴുതുക  

4. From the following transaction identify the ledger accounts to be created and their 
group in the accounting software.  
തŹിരിŚുŹ ഇടപാടുകളിൽ നിŹും അŚൗŪിംį േസാłƃ്െവയർ ഉപേയാഗിŚുേƀാൾ 

ആവശŖമുƄ െലĹജർ അŚൗŪുകളƧം അവയുെട ŗഗൂżƧം തിരിŢറിയുക  

a )Started business with cash  
b) Paid salary               (2) 

5.  Give voucher type and function keys for the following         (2)  
ചുവെട തŹിŨƧƄ ഇടപാടുകളƧെട വൗŢർ ൈടżƧം ഫംįഷൻ കീ യും എഴുതുക  

a) Deposited cash into SBI    b) Goods withdrawn for personal purpose. 
6.  List out three levels of users  in Gnukhata          (3) 

Gnukhata യിെല മൂŹ് തലšളിലുƄ ഉപേയാśാŚൾ ആെരലīാം ? 

7.  Write a short note on Payment vouchers and specifying the function key         (3) 
െപņെമŀň വൗŢറിെന കുറിŢ് ഒരു ലഘു വിവരണം എഴുതുകയും ഫംįഷൻ കീ ഏെതŹ് 
വŖśമാŚുകയും െചƂƧക  

8. Identify the group under which the following ledgers are to be placed.          (3) 
താെഴ തŹിരിŚുŹ െലĹജറുകൾ ഏļ ŗഗൂżിനുƄിൽ വരുെമŹ് തിരിŢറിയുക  

Name of Account Groups 

Plant and machinery  

Depreciation   

Loan  

9.  Explain the procedures to create a company in GNU Khata (5) 
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GNU Khata യിൽ ഒരു കƀനി രൂപീകരിŚുŹതിനുƄ നടപടിŗകമšൾ വിശദീകരിŚുക  

10.  Raju is a  commerce student, while presenting a seminar on accounting software 
package argued that the procedures for entering closing stock and opening stock 
are one and  same . Do you agree? Explain the procedures in detail.                  (5) 
െകാേമŋŏ വിദŖാർůിയായ രാജു അŚൗŪിംį പാേŚജിെന കുറിŢƧƄ െസമിനാറിൽ 

േƎാസിš്േƊാŚും ഓżണിš്േƊാŚും േരഖെżടുŮുŹ രീതിŚ് യാെതാരു വŖതŖാസവും ഇലī 
എŹ് വാദിŢƧ .നിšൾ ഇതിേനാķ േയാജിŚുŹുേŪാ ?ഇതിനുƄ നടപടിŗകമšൾ 

വിശദീകരിŚുക.  

11.  Explain the step by step procedure to be followed in preparing bank reconciliation 
statement in GNU Khata  
ബാŠ് reconciliation േƊƃ്െമൻň GNU Khata യിൽ തƂാറാŚാനുƄ നടപടിŗകമം 

വിശദീകരിŚുക .                                                                                                 (5) 
12.  Can you help Mr. Abhiram to create final accounts in  GNU Khata  by explaining 

its procedures.  
GNU Khata യിൽ ൈഫനൽ അŚൗŪ് തƂാറാŚുŹതിŀ അബിറാമിെന നടപടിŗകമšൾ 

വിശദീകരിŢ് സഹായിŚാേമാ ?         (5) 
13. Write the procedure for recording transactions of Binu Traders Kollam, with the 

help of an accounting software.         (5) 
ഒരു അŚൗŪ് േസാłƃ്െവയർ ഉപേയാഗിŢ് ബിനു േŗടേഡŋŏ െകാലīം ഇടപാടുകൾ 

േരഖെżടുŮാനുƄ നടപടിŗകമšൾ തƂാറാŚുക  

1/1/16   Started business with cash    Rs.100000  
3/1/16   Opened  the Canara Bank account    Rs.  25000 
5/1/16   Purchased goods       Rs.  40000 
7/1/16   Sold goods                 Rs.  60000                                    

 10/1/16   Paid wages        Rs.  10000 
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CHAPTER-6 
DATABASE MANAGEMENT SYSTEM FOR ACCOUNTING 

1.  Expand DBMS    DBMS വിപുലീകരിŚുക       (1) 
2. The number of rows in the table is known as .........                                    (1) 

േടബിളിെല വരികളƧെട എŬെŮ പറയുŹ േപŇ .. . .. 

a)Tuple  b) Cardinality c) Attribute d) None of these 
3. ........ are used to store the data in the database.                                  (1) 

ഒരു ഡാƃാേബസിൽ വിവരšൾ േശഖരിŚാൻ ഉപേയാഗിŚുŹļ ....... ആĻ 
a)Table b) Form c) Reports d) None of these 

4. Which section of database contains the title of the report ?                               (1) 
ഡാƃാേബസിൽ റിേżാർŨിŀെറ ഏļ ഭാഗŮാĻ ശീർഷകം ഉൾെżടുŹļ?  

5.  To uniquely Identify each entity in the table in a database,........ key is used       (1)                    
ഡാƃാേബസിെല േടബിളിലിൽ ഓേരാ എൻടിƃിയും   ŗപേതŖകമായി തിരിŢറിയുŹതിŀ....... കീ 
ഉപേയാഗിņŚുŹു. 

(a) Primary (b) Foreign (c) Public (d) None of these 
6. A common field on which two tables linked are known as.......       (1) 

രŪു പŨികകെള തƁിൽ ബŸിżിŚുŹതിŀ െപാതുവായി ഉപേയാഗിŚുŹ ഫീൽഡിെന.....എŹ് 
പറയുŹു 

(a) Main field b) Key field (c) Table field d) Joint Field  
7. List out the different components of database system.                           (2) 

ഡാƃാേബŏ സിƊŮിŀെറ വിവിധ ഘടകšൾ ഏെതലīാം ? 

8. Explain the process of creating table in database.                                          (2)                                                                                             
ഡാƃാേബസിൽ േടബിൾ നിർƁിŚുŹതിനുƄ ŗപŗകിയ വിശദീകരിŚുക  

9. Expand the following terms താെഴ പറയുŹ പദšൾ വിപുലീകരിŚുക  

a) SQL    b) RDBMS    c) HSQL                              (3) 
10.  Write a short note on.  ലഘുവിവരണം തƂാറാŚുക  

a)Forms b) Queries  c) Report                              (3) 
11. Complete the series with suitable data types                                                            (3)                                                                                                  

അനുേയാജŖമായ ഡാƃാ ൈടż് ഉപേയാഗിŢ് വിŨƧേപായļ പൂരിżിŚുക  

 
Field Data Type 

Name Text 
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Sex .... ... 

Date of Birth ... ... 

Basic Pay ....... 

12.  Write the procedure to create employee Table with the following field in Database.                        
ഡാƃാേബസിൽ താെഴ പറയുŹ ഫീൽഡുകൾ ഉപേയാഗിŢ് എംേƗായി േടബിൾ 

തƂാറാŚുŹതിനുƄ നടപടിŗകമšൾ എഴുതുക       (2)       

Field Name DataType 

EMP_ NO  

EMP _NAME  

EMP _BP  

EMP_DA  

 

 
 
. 
 


